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I act as p.i"rat'V Oe

Option A: Machines
Option B: Antenna
Option C: Sensors

Cption D: Switch

2. Whlch RFID tag does not r,ecd an embedCed power?
Option A: Active l:ri i, -,,: -,ti.. " i.:..:'-:.i:'.:1,'"":];:',;ii.lr t *..'
Option B:
Orrtion C: Semi-Passive

D: [q*l4qly" , ,.''- ' : '- .,: ::: :': ': ] ': ..'
-),I i- ' .';- -'.1 \

J. Pure ALOHA is based on i j

Option A: CDMA

_l&!i9!_8,
Option C: FD1y;alrr .il"., ..''. - ,,''.,q..11 .t,,

Option D: SDMA fir- i-El:;..,!
4. N4QTTtopics'are , ' ,'

Opti;n A: . Simplc floating point l;= ;:: .'l.. +
i -:1.\ !\...+,

Option B:, Simp inte'ger,1r' '',,. -;',..-,...,-,-- .::, ..,-'.

Simple symbol

Option D:

CoAP provides which of the follow,ing requirements?

Multicast suppoil, Lo'rv overhead and Simplicity

Option B: Low overhead and rnultjcast supporl

Option C: Simplicity and low overhead

OptionD: Multicast suppoft and simplicity

111$;.:* X-MAC differs MFP - Micro &ame prearnbling with respect to:

,!et*,,3f$ Receiver cuts the preamble into micro-fremes, and listens between each micro-
&ame.

Option B: S (sender) cuts the preanble into a series of micio frames.

Cp.tion e:;r S (sender) cuts the prean'ibie into rnicio-llames, and listens between each micro-
&ame.

lSenders 
listen to the remainder oi the preamble, which costs energy and Incrcases

I 
collis ion probabilitl,.

'l i-_
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Passive

Option C:

Option A:



7. localization algorithn works according to the lusffi
location by using velocity or acceleration.

Option A: Dead reckoning

Option B: Scene analysis

Option C: Proximitv
Option D: Hybrid

8. Link-Layer Handover process fo llows tfr*e step@
Option A: active and passive

Optron B: active and semi-passive

Option C: semi-active and passive

Option D: semi active and semi passive

9. Oozie workflow jobs are directed graphs of actions.
OptionA: Linear
0ption B: Ell I

I

Option C: Cyclic
Option t): Acyclic _

10. Hadoop Ecosystem does not include
Option A: Oozie
Option ts: Yarn
Option C: Hive
Option D: Zoo
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Qz. St'-.f +,' ljt--i r:i''$,+i.* ,i.: :,*

A
l. Oiscuss ttre tec 

-ll.

111. ; Explain l0 most emerging technologies in IoT
B

;.i" .lr' List the,f.eatures of CoAP and pxplain the oifferent m@
,,.ii1,:,-'.'' raw the RIID bm"d ur.hit.",u." fo. rupply.huin *unug"*.n, uppli*rioo

-r--;i'."':i E*pluin th. ur.hit."tu.. of ivlQTT p.oto.offi

,r' iii..j Explain the T),pes qf Wireless Sensor Network?
B 10 marks each

-.:' {'l What does NETCONF'-YANa

Discuss the RFID er,abled handoffmanagi@
and Mobility nianagement.
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Solve any One
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Q4.
A Solve any Two 5 marks'each,: .

1. List and explain the components of RFID .ri ,l:r,;.'I-E .,:-lT
* _d i:; *: e: :11

1l lllustrate how Energy-efficiency in MAC protocols is lrraintained.

l1l. Suggest the IoT Frarnework for Home Automation application.
B Solve any One 10 marks each'
1. Differentiate between the various ccnventional localization techniques. E-plain gny one

detait.
ll. Discuss the need of the Chef and Puppet tools with their benefits

using the:n.
List the industries
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